2017p. QUAHULGNh MLUL Ahnthnjuntpnt GG/

Mwwnyhpwunt” <<Lnpp hngbpnidwlwb YEGwpnl>> OR0

Opwghpp’..." """,

Ubywbnwip™.."

bhowbuwynpiwb wnpnipp’ 2017, GYwidnunGeph b dwjuubph Owhiwhwzhy

Q00wl wrwplwih
Qodwb Ak
Uhgusl nnp’ Quithdul Chnwakop
mnujhé'plt, L Ut (popwguiywn | ST [Uhwidnnh ghtn du.?muhnup Puwliwyp
nuwuwyungdwl an)
1 3 4

UnPULRLGD =

Ublnwipknp
15872400 Un, Yspuilynh, dwbip L g 160 40000 250
15411150 UpLwawnyh dbe, nwhhlwgwsd, (quwe) (o4 {hup 500 540000 900
03211300 |@phié [o1S Ug 350 385000 1100
15331178 = |lbsn (4 g 650 299000 460
03222128 haGidnp, dhghl swiph (24 lg 300 330000 1100
15542100 Hwpliwng (%4 lg 1180 892500 750
15313000 Hwpunndhy (R4 Lg 160 480000 3 000
15616000 | <0nluwbwyuwn [ [ 590 472000 S SE0pL i)
03142510 2nt, 01 Ywipg (24 i 50 350000 7 000
15551600 | Uwidnib, nilh Lwpha [ uq 349 349000 1000
15850000 Wwiywipnlibink 14 g 265 291500 1100
15110000 __|Upu huifh [ lg 1100 550000 500 &l
15111120 |Uhu inwifwnh nbinulwi gushndy (14 g 2350 1292500 550
15111110 Uhu inwifwph inbnwywl nulppnun o4 ug 2100 3465000 1650
15831000 CLuppiuig 14 ug 390 234000 600
15331600 Inp Bhpg (o4 g 2600 57200 22
16331152 Uhubn, wipnngiilyuwl 414 [ 800 480000 600 |
15331161 |Unh, ginuu [F4 lig 200 90000 450 I
15871256 Lnuguud unuybn [o14 La 2000 6000 RN _
03221110 Quwiguup (24 Lg 200 80000 400
15872310 Awihlibuibipl, snpugplud 14 Lag 1600 1600 1
03221122 ndhy 74 Lq 250 125000 500
15863200 | @by, uls [ lg 5900 118000 20 5 wedil
15331139 Lnjhy (24 4a 200 80000 400
15331142 Lwnudp, 4 4 GL Lig 80 240000 3000
15331167 Lwilwgh, fuweg CL Ly 150 45000 300
15616000 LwAwpwdwnn 4 Lq 350 175000 500 =
15331163 Awllntn, wpdwinuwwnniny (o714 lg 140 56000 400
15332192 Lwbnwphl 4 ba 400 24000 60 |
03142100 [Ubinp, plwluwb [o7% [ 3100 520000 200 i [
03222113 Qwihy 4 ljq 1000 8000 & |
15331168 Udpnty 54 ug 100 50000 500
15331171 Swpnbin, pwngp [s74 g 250 100000 400
15333100 Sndunn) duwdnily G Lig 750 131250 175 = i
15811110 £wa, hpuigniul o714 Lg 240 2160000 e N0
15811100 Zwig ubifh pruwblyw (914 Lg 230 1380000 & 000
15530000 iwpuwig, ubipnigpluhl (074 lig 2720 2448000 500
15510000 [ wubp, wiknuwljub (74 lg 840 546000 650
15540000 Mwbhp fineh! CL lig 1650 825000 500 b
15842110 Ynlihhin, anlnjwnwuwin {24 g 1350 40500 30
15131630 Sunfiwph duh wwhwan {4 g 1300 260000 200
15617000 Snpblwdwi|wp (74 Lg 250 37500 150
15613350 diupuuluduwnfwp CL g 450 270000 600
15623200 Ughunwuluduwg wn GL lg 330 132000 400
15331153 My (44 Lg 600 480000 800
15511200 | 74 Lhinp 345 1293750 3750
15841100 Liwljuin (74 g 5500 66000 12 %
15332280 20 G La 840 336000 400
15890000 Lwiligh gnp (74 lq 3700 74000 20
15890000 widbinilg udbigh undibigh (224 lgq 5000 25000 5 e
15872600 Unntu GL uq 300 3000 10 =
15898000 [rudnphy [ U 1600 TBO00E & M)
03220000 Uwiunip CL lg 1000 150000 150
03222100 Uhpg pubwl (o7 4 g 600 300000 500 =
03311112 ntly 024 g 1350 405000 300 4

_ 156812100 Ugip, L lig 220 | 33000 150 i

15331154 Mo wiennguiut 2 Iq 350 [ 175000 500

Atnnpw)p b wionywunwbmpkp i s __:
33600000 Suwnwytnhnng [#14 hup e )
33600000 Liuniyphy 74 upyuily A=At T i
33600000 Swinuwtiphrnng nbhwibnwwn 14; 14 upfualy 1§ == e _:&___ =
33600000  |Unnhinbl ntiyn (o4 upduly i
33600000 Udhbwghl (T4 upufly | e e :



33600000 Sphdnunwtpwqhth hhpngnphn /Sphjuwght/ o4 huup
33600000 Uulnpphbwpgnt L hup £ ey
33600000 Jhunwdhl B1 /phwidhl ppndhn/ [o14 unyuily .
33600000 uUhunwidh B6 fwphphrnpupl/ (o4 uptjuly
33600000 8t hunphwpuni/gipuinppupunt wumnbphw/ (o4 upuuily -
33600000 UGwight upquwl 50% 2 d| CL upyly |
33600000 Mpnluhb Aonynlyuyh/ (24 upywly = |
33600000 Appwgni(ptbnugnih hhnpneinphr) {14 up iy
33600000 Muwutphl (wwiywlsphbp hhnpnpinphng) (o4 uptjly
33600000 [Uwqbbgpnuih unydun (14 upfualy - o
33600000 HUndtiht Gwwnphnuih pEhgnwwn (574 upwly
33600000 Lhlbpwdhn MAMnpnhwidpi-nupbhguw! upywy 14 upuly =
33600000 Mwpwgtitnwdng hwp [o74 uptjwly Eemal -
33600000 Un-tnphdwpugny {14 huwp hd
33600000 Luniwfuninh ngipnipg (o4 22hYy
33600000 Anwolh whpopupn C< 220y _____:_____
33600000 3nn (%4 270y
33600000 R npuid plilihung, dEphnipwghy /Lkndhlyn)/ (24 punly ]
Nbnnpuyp, wjn pymd
33661161 Opuliguuwgpt 104dg POLL nbnwhwwn i y =
33661161 Opwbquuughl 5ig RCUL ntinwihuiun
Ad bl pwiwymppulb wuypuwbplbp, win
e L T R e LR[S NN | STV S S| [INE S LY ST | S —
33141115 Puwiipwly 100g CL humn
33141114 2hiwn ny uinbippp (24 hun S e
33141114 2hlwn uwntiphy (o4 huin e
33141112 Uwtinwith 3%5 o4 huwn =l
33141159 2brbng pdzwlwb ny unbiphy 78 huuwn
33141129 Apdwy pdayuwliwb 474 huin =
33141142 Ubpwpyhs 104] 14 huwin e
33141142 Ltipwplihs 200 oL huwin =
33141142 Lbipwplyps Sd; CL hun k] e
33141211 Swlynhp dEdwhwuwyp (71 hn =
33141211 Uhpwinhp Luwlwgh oL huuwn el
33141211 Zwihwliwng hbinmiyobpp GEpwpldwl [o74 hiun al Pgesr o
33121180 Snlindknp 14 huin e g
Walnnbwyhl wwpwaqubbp, wyn gqnid’ ——— |
39516122 Linpluwly POLL hiuwn !
39141200 Puwpd, uplipbinhy POUL hn
33751100 Unidjwpk twlwanp POUL hitn =]
Qwiwlwpasught L odwinwy uwppwynpnidGbp b
odwlnuwly fyniptn, wyn pynid”
30232110 Lwgbpuwihl iy POUL huwn ‘_
30211180 Lwiiwlywipghs PLOUL hun = :
30211220 Lnnigpnip pouUL huuwn =
30232110 Lwgbipughb wwhy PCUL huin
09132200 PEOghU phigriywn (774 {pwnp
30190000 ;llr:igt:;mﬂ gnwutilpwlwihG uwppwynpmdbbn b QpuC i
39800000 Uuwppni b thuwytighng wpunwnpuibp PLUL npwd . =
39100000 Ywhnyp POUL npwd
32330000 L[bl|u1r\nmr;[um.llqul.nl.unhnmhm(:hUw L YEbgwnuyhl .Qi".'l_l( it |
wwinplaynpnudltip 1 =
32330000 bbb hndhuwp POUL I - =l el |
34000000 Udinnupwhbumwdwubin POUL npwd ———
44110000 Ghiwpipwiwl bnupbp POUL ki $ 2
09211100 SwipdHsh jnug 10w-40 POUL \pp 2250 9000 " e
30121460 2uipepheh (hgpuwynpnid (130g) POUL hwin 4000 16000 4 =
30236110 Ouwtipwinpy hhznnnipnit 2Gb DDR2 ROUL huwin 12000 12000 1 |
30237100 Uwypuwighly hwidwlwpgsh PoUL hun 15000 15000 b Wi
Ruppphe (watpwghl wwhsh CE278X/ CAN -
apzaaaie) | R e ey ?2]; pOUC e 10000 10000 E
30237100 Sujhsh vbmgdwh piny [alalt4 hiun 15000 15000 1 )
30237100 @ipnly (wakipwht pwpepheh PCLUL hiuwn 4000 4000 i |
39263200 Opuublpuluwihl ghpp POUL huin 500 50000 100
22820000 Udpnijwwnnp puipun POUL huwin 120 180000 1500
22820000 Abnnpuypwiht ghpp PLUL huin 5000 120000 20
22820000 Jwinjwl prcdhwuinwinnignibtiph PoUL huin 6000 72000 |
22820000 Upuilnulpiwl plipghly pOUL hwn 24 48000 2000
22820000 Sbpdwptpphly [a]a]UT4 hwn 24 24000 1000 |
22820000 Zuipbun gl phpphly [2TalN74 huiwn 36 14400 400 5
22820000 Lupydbunynipwil win POUL hiuwn 36 3600 7 |
22820000 Swawunhdbiph gnigwlh pEpehYy POUL huin 36 3600 100 il
22820000 Puinyuwdph prubly [2]a]Ul4 hLun 24 24000 10000
22820000 Zhul, Muendnipul dhontly POUL huun 50 50000 1000
272820000 “nnpwph unwgiwl wwhwbgwghn POUL huuwn 3000 30000
22820000 Ppwigblydwl plipphly POUL huin 24 24000
22820000 18 L pwpdp twphph nunbighp [a]alll e hun 48 2400
30197230 (A puiwwbwl guuwbwlng [a]al¥]4 hun 500 12500
30197230 Bnpuiuwliwl rhghulnp POUL hun 800 20000
30197230 Anpwupwiul) wpwgubup POLIL huun 80 U 2400
30197230 A prenpuliooly wnwgubup wjwunhly POUL hwn 150 4500
30199230 Dpwp 115°225 POUL huin 15 15000
30199232 |Opuwp U4 poUL [ 40 20000
30199430 Lznudh pnune jalalUs hun 1890 5700
30182130 Juwinpun EouUL hiun 70 2800
30192780 owpwdwlhg AOUL i 300 6000




30192133 [upps £OUL hutn 120 1800 15
30197320 Hwiphs N10 POUL hwin 800 8000 2
30197320 Yuwphs N24/6 [2]nlit4 huin 1850 9250 i
30197320 Lwinhy dbs [21al8T4 hwn 5500 27500 5 -
30197100 Ywiphsh wutin N10 PoUL huin 80 2400 e 2T
30187100 Ywiphsh wubn N24/6 POUL hwiun 160 4800 BISEE
39292500 2uwilinl rouUL hun 150 2250 15 ol
39241140 Qpuubijwluwihl nubuwy ROUL huwitn 80 800 10
39241140 Qpuubijwluwih nubuwy POUL hwitn 300 1500 5
22811150 Unpinkinp FIS 4Q PoUL huwn 2500 37500 15
30197231 Sy 504y ajalvls hun 11 11000 £ [3]e)7
30197231 Sy 404y pOUL hwtn 9 9000 1000 5
22811150 Lnpuwinbuinp hwuwn Yuwadny ROUL huin 2000 10000 5
250060 AYynipli Fupinninwly gniquipwbwlintipl Al i 450 205 ’
hwwnwht wdpugubing o
44311151 Yihwu 3/8 ROUL A 20 200 10
r -
4530000 Ynepl Fuiinunwl) gniquipupuibiulntipt Sz b - o 4
pwsnlih wdpuighbine F
44520000 Ynupty Gud POUL hiwtn 4 40 10
44521110 [Mwnnunwly 3.5*35 POUL huwin 3 30 10
44511340 QuyhynG Gud ROUL hwin 350 350 1
39221130 |Muwuwihys pudhaly eoul huwin 250 7500 30
39221130 |Muwuwhlt tuwppu 601 POUL huun 4000 16000 4
19640000 Nnhtphiblwyhlb nnwpuwllbn [alalVTs hwuwn 80 4000 DLl SRR
44521110 Munniinwly [218]8T4 huwitn 270 210 il | K
44521110 Tnni iy PRUL huwn 350 350 : S
44521110 iuhly POUL hwin 2200 4400 2 -
42660000 Qnndwlh dwubp eeus huin 80 640 8
44520000 Cphawy ROUL hun 550 1100 NI
31684400 Huwpnwyh spewlwl POUL huuwn 300 600 7
42130000 Duwlwlph dhenlly POUL huwn 3500 3500 1
31520000 [Lnuu 1.20 tin, pOUL huuun 5200 10400 POy
31684400 Hwpiilyh wnih ROLL huin 70 280 Ao = o
44110000 Lnushs 12 POUL huin 1000 8000 8 -
44192800 udpahl pOUL hwin 400 400 1
44411100 Onpuwly [2]a{BT4 huin 4000 12000 )
44511330 Nunninwywhwb [a]albl4 hiLin 1400 1400 e
44921500 Qhwjunbpun [a]alll4 Lg 2200 26400 12
44921500 Qhujuwpl shhwdwahy PouUg wyuiply 3700 37000 10
44111410 Ltiply junuugghl POoUL hiwn 3500 7000 V2ol ]
44111420 Qnibwljnge 2oug hwin 400 2400 6 B
44300000 [Lwp PoUL qal 250 1750 E= > |
31500000 [Lwiy pOUL huwn 1900 17100 g
39263400 Lldpy eouUg huin 1000 1000 S e
44521110 MNinnunily eoug hLn 29 348 1
31683400 |Gnwpwppips ADUL huun 500 2000 A |
44111410 |Lbpy eoUL ug 3500 14000 F !
44520000 Qninb POUL hin 2500 5000 7
44520000 |UbYniups dunyuntl [aTaluYS hiutn 150 300 2 1
24911200 bdniupu ROUL hiin 900 2700 —oid |
24951130 |Upipln [=Taliv huutn 1000 5000 CBBa
42130000 Onpwlh dhently POUL hiuun 500 2000 AL DL
31221200 fupnguly POUL hwin 1000 3000 3 |
44111700 [Uwyhy PO pd 3800 57000 16
44111700 Uuwithly hwwnwlgh ROUL pd 4800 124860 26
24910000 Wunhlyp wnuhbd POUL wuply 1500 67500 45
44520000 Qhwguilwnpont gpwljugm [a]a]BT4 hwn 4200 67200 16
44520000 Qhwuwlwpunnk POUL huin 2400 7200 3
44331400 Nondh 47 POUL hiuen 550 24050 37
44331400 Npndphp m26 POUL hwin 600 16800 28
44521110 640 ujuinniunwly eouUL huin 1600 3200 =R
44521110 wnnunwly 3,5 2.5 PLUL huwin 2500 7500 T
44111414 Lbiply jwuntluw)pl rouUL hun 12000 36000 3 2
44211610 UoLynil PRUL hun 50 200 e Sl ]
31683400 Grwpwzpuhs PoUL huwin 70 140 A LN
31711250 [hunnniuly BOUL [ 2000 12000 5 |
44520000 |ugnli enUL hun 50 50 (A
44520000 ryminne wbilynel POUL hiuwn 250 500 il e |
31683400 Grwpwluhs POLL huuun 400 (it oy LI S e N
31683300 Puwinwpiptuhs poug i 200 200 2= o
42130000 Duwlpwlbp dhpny POUL huun 3500 3500 1 _|
24910000 U unuplid POUL huuny 1000 2000 - B
24910000 Fdnuupw dbd POUL hun 4800 4800 T 1 o
44520000 Lgwhuwpphs; POUL hiuwn 1000 4000 4 gl !
44520000 Ubjwhl dbhwidwahly POUL huin 6000 30000 5 =
19640000 M htphibElwht winwpwlybbp POUL huen - 100 2000 20
Uchuusuueutn =
Unbhpnphlgwiht YeGunnnbh vwnpuinpnedenh,
52111100 btpwnuy wibiuwhuldwh hwedwlpwpgbph ne i
unbnddwl L intnwnpiuwl wrwnipmbbn
50000000 Hepwbnpngiwl dwrwnigniblbp POUL npoLd 960000 960000 1
79820000 Supugpm bl welyynn dwewinugmbibn opue Afiw '&
funupwignnignil/ s
aunusnrasniuuen 3 S
64211100 Bppuyd herwiunuwyuwwh wwywhny dwb < fins

Swrwnigmbbbn




64211000 Plwntnbbn Yuuh wwwhnydwl dwewjniambotn POUL widhu
90521300 2o, Bunhnbltinh nsbgwgdwl dwewngniGObn ROUL lg
S8310000 Ldwgdwb L snp dwppdwl swewymipnlbObp PLUL lg - 5
65111100 tudbint oph pwzpunid PLUL o
65211100 Quigh puiptunud PRUL npwd | it RN T
65311100 ElEYwmpulwbnigul puziunid POUL il
90921000 Abpwinhquughnl swewnugnibbbp ROLL npwid R
90511000 Unpwhwinipuul dwewnipblbp PCUL npwd R, |
Uywnndbpblwbbph epwbnpngduwl
50111130 SN GGk POUL nnwid
5100 1 £ R UG A Tl G alYs Anws 20000 20000 :
Auwipwynipnlitp FLet]
66514110 Udunndbpbhwbtph wwwhnywgndwl pOUe AP
duwipwnenibbtn
71631120 Uynndb pbbwbtiph wbulhlwiwl uuinngdwl Ao T
Suwipwmentbbtip
75240000 Muwhwluwhb L l.uLIlILnLLI[.Iqul[B]UJ[] wijwhnydwl no apuws
Swrwymgnlbbtip y
Stuwhuydw hwdwhwpgh plnuw)idwd |
52110000 SUAEINLG0GN ROUL nnwd o
98111120 unnwbuwnpuiwhb dhengltiph gUwhwmndwl POUC Afin
dwewnpnbitn
72211124 Suph wwiinpuundwl swewjnpnibbbp ROUL il W
79411110 PhgOtup qupgugdwl funphpmwiny wijwt AL AL
duwnwynignbltn e il
71321150 Swilihpp ytpwlnpngdwl dwewnpniblbn POUL i RS
79210000 Uninpunnpuiul dwewnignblep POUL il e
Awpuwnwbwihl b hwbpuwhb ublnh g
SS5000N Luiqdwlbpuwydwh swrewnggnil & fgsy S
90910000 wpndwl swewinipnibitp 714 o 10 780 000 10 780 000 P =i TP
71900000 Lwpnpuwinnphwwl dwrwnuggntl e o 3495 000 3 495 000 1 .,
71351390 utijudngpwdhy hinwgnuinipjwl dwawnipnlbbtn faalil4 nnwa

ouAUUGLR

”
Onfunbiopkb phuwumntintuwljub qu{/

G np hwowiguh’

)

U. Fhywusjult

U. Gphgnpyui



